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Hmm.... It smells good. What are you cooking, honey?
I’'ve made an apple pie for you.

Oh, really? Can T try a picee?

Sure. | hope you like it.
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W: Hmm.... It smells good. What are you cooking, honey?
M: I’ve made an apple pie for you.

W: Oh, really? Can I try a piece?

M: Sure. | hope you like it.
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M: How did the science test go, Susan?

W: I'm afraid I failed it.

M: Why? You studied really hard for the test.
W: | couldn't finish it in time.
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W: Attention, please. This is an announcement for Moonlight Hotel guests.
We are sorry to inform you that pieces of broken glass have been
found in the outdoor pool. The pool will be closed since it is not safe
for swimming. If you want to enjoy swimming, you can use the indoor
pool on the seventh floor. We will let you know as soon as the outdoor
pool is ready. Sorry for the inconvenience and thank you for your

cooperation.
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M: I saw a car accident on Alington Avenue today.

W: Really? What happened?

M: A truck suddenly stopped and a taxi hit it from behind.

W: How terrible! Is anybody hurt?

M: The taxi driver was injured. I think he should have been more careful.

W: What do you mean?

M: He was driving too close to the truck.

W: You mean there was not enough space between the truck and the taxi, right?

M: Yes. Keeping a safe distance from the car ahead is important, but he

didn’t do so.
W: I see.
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Hello, how may I help you?

: Hi. I reserved a wildlife tour in this park. I need to pick up the tickets.
Do you have the reservation number?

© Yes. It’s 32461, and I’ve already paid for the tour.
[Typing sound] You’re Kate Smith, right?

: Yes, I am.

You reserved a one-day tour for four people, right?
: That’s right. Two adults and two children.

Here are your passes. Please don’t feed the animals.
: Okay. Thank you.

Have a nice tour.
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. Jason, look at this.

What is it?

: A blogger posted a picture after she decorated her room.

Oh, it looks great. I like the round rug on the floor.

: I think it goes well with the striped curtains.

You’re right. And the floor lamp next to the bed is just the type that
I want to buy.

EE€X€E €

b

We can ask the blogger where she got it. Look at the heart-shaped
cushion on the chair.

M: It looks really comfortable.

W: Yes. The blanket with flower patterns looks nice, too.

M: Right. I think this blog will be helpful when we decorate our room.
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W: Hi, Charlie. You look busy. What are you doing?

M: Hi, Theresa. I'm doing some research for my trip to Australia next

month.

. Actually, I still have the plan I made for that trip on my computer.
: Could you send it to me? I want to get some ideas from it.
: Sure. I’ll do it tonight.

: QR Charlie. sk molth. sl g

W: That’s great.

M: I'm going backpacking with my friends, so I need to plan it.

W: Good. A travel plan will make your travel more organized.

M: Yes, but it’s not easy to decide where to visit first.

W: I can give you some tips. Last summer, I went to Australia for two
weeks.

M: Really?
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: Mr. Jackson is angry at me because I’'m late.

: Again? Why are you often late these days?

: I can’t sleep at night. I lie in bed for hours without sleeping.

: That’s terrible. Do you take a nap during the daytime?

No, I don’t have time for it. I have a lot of work to do.

Then why can’t you sleep at night?

It’s because of the noise coming from upstairs. It bothers me a lot.

£X€K€2€X

I know how annoying it is. Why don’t you report it to the management
office?

M: That’s what I'm going to do.
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M: Can I help you?

W: Yes. I'm looking for a school bag for my son.

M: How old is he?

W: He’s starting elementary school next month.

M: Why don’t you buy this bag with a superhero character on it? It’s 50

dollars.
: It looks nice. He loves this superhero.
I think your son will need a shoe bag, too. This one has the same
character on it.
Good. How much is it?

=€ K=

: It’s only 10 dollars, and I can give you a 10% discount from the total
if you buy both of them.
W: Great. I’ll take both.
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W: I think it’s time to get a new refrigerator.

M: Yeah, our kids are growing up, so we need a larger one.

W: I have a model in mind. It’s white and has pretty red roses on it.

M: How many liters can it store?

W: It can store up to 500 liters.

M: Okay. How much is it?

W: It’s 1,500 dollars.

M: Is there a delivery charge?

W: No. They deliver it for free.

M: That sounds good. Let’s buy it today.

W: Okay.
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M: Hello, coffee lovers! We’d like to invite you to Coffee Expo 2016. It
will take place for one week, from March 21 to 27 at the International
Convention Center. A wide variety of coffee and coffee-related products
from around the world will be shown. More than 200 companies are
going to participate, and there will be various fun events, including the
World Barista Championship. The entrance fee is 10 dollars and free
for those aged 13 and under. Come and enjoy the smell and taste of
real coffee! For more information, please visit our website,
www.coffeeexpo.com.
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: What are you doing on the computer?

: I’'m considering taking swimming lessons during summer vacation.

: What time are the lessons?

: 1 think 7 am. is too early for me. I want the lesson that starts at 8
a.m.

£ =EKx

: How often do you want to have a lesson?

: Three times a week would be better for me.

: 1 see. You probably want an intermediate level because you can swim,
right?

E=Ex

W: I can swim, but I want to learn basic skills.
M: So you want to start from the beginner level?
W: Yes. I’ll sign up for this lesson.

W UE ARER TS sk g

Of: Ut o]BW Fok 59 e we A nefsha gl

W A g Ao qlof?

Of: 071 TAe] QUi AL WA UT ol2 2 ot vhe 840 AlAsE
e s,

W UE dee dukt 4% sha A

Of: Aol 3wlo] Lol F2 3 2ok

W Aol Ut £9S T 4 ] e ohbE F7 FEE Uske 2

2oy, gop

R R I LT R EEO L
W TN U 2 SENE AR AU
Of: S. o] &g A Aok

| 28 a4 | HXl= 0iE Wt SO £+ 2leg 2 Hof Stk 222 7AlolA

BAIZ 251 U, UF0| 3 Mt B2 2 Lrtshn, 712 |Re B Kt
o= bt AlYE 49 Zas @olct
| 45 0131 - 0f7 |

O intermediate 22|
O basic skill 7|= 7|&
O sign up for ~2 AIASICH

O level £&&

O beginner Z=&EX}

13 Mgl =mst 25 127 Het ®
MR MEdH|E/HEE 13% 1% 10% 25% 48%

[Telephone rings.]

M: Workspace Center. May I help you?

W: Hello. I’d like to reserve a meeting room for 4 to 6 in the afternoon on
March 17.

: Okay. How large is your group?

: There are five of us.

2€EE

: Let me check. [Typing sound] Unfortunately, there are no rooms
available for five people.

W: Hmm.... Do you have any other rooms available?

M: There is only one room left, but it’s for 12 people and more expensive.
W: How much is it?

M: It’s 70 dollars per hour. Do you want to reserve it?

W: No. I'm afraid I’ll have to try somewhere else.
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: Jessica, you don’t look well.

: 1 feel a little tired today.

Is something the matter?

I had a bad dream last night.

A bad dream? Can you tell me about it?

A monster was chasing me and I had to run away.

That’s horrible. What happened next?

Just before the monster grabbed me, I woke up in a sweat.
That sounds really scary.

Yeah. I’'m afraid something bad might happen to me today.
: Don't worry, It was just a dream.
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W: Jisu is going to take a math test in 30 minutes, but she has a cold. She
took some medicine, but she still has a fever and is starting to cough
a lot. She is quite worried that her cough could keep her classmates
from concentrating on their test. Jisu wants to go to the school nurse’s
room and take the math test there. She wants to ask her homeroom
teacher if she can do that. In this situation, what would Jisu most likely
say to her homeroom teacher?

Jisu: Could I take the test in the school nurse’s room?
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M: Hello, everyone! Have you heard about scented candles? They are
candles that smell good. Today, I’'m going to tell you about one of the
benefits of lighting scented candles. In addition to lighting up a room,
they can make an ordinary room special with their smell. Research
suggests that the smell of candles does more than just improves the
atmosphere; it can also affect how you feel. Some smells can actually
lower stress levels. For example, lavender is said to help relieve stress
and anxiety. Vanilla is also known to reduce stress with its comforting
effect. Some smells tend to promote positive emotions. For example,
rosemary provides a feeling of satisfaction. Jasmine can help to
overcome sadness and depression. Why don’t you use scented candles
to revive yourselves?
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M: Oh! You’re reading Richard Cook’s new novel.
W: Right. Have you read this book?
M: Yes, I loved it! How do you like it so far?
W: 1 think the story is very exciting.
@1 Y= Richard Cook’s®] M2-& A4S 931 QL)
of: sok Ui o B glojEhi
W 9, LHe TS v Eobell Ui 28 Auht gol Fobshp?
Of: U= 11 olopr|zt uj$- Algeia Az,
2 314 | EXH= Richard Cook's2| {22 AME Zofstn @1, KXIoi|A 2
AE ot E0tein 21 U8R oA SHSE 7 z
think the story is very exciting.(Li= 21 0[|0}7|7} O AltCtT A8ZEsH )'o|Ct,

| E &1 @ H7IM HF ol @ L Azl L= 0] AMS 24X 22 7ok @

L= O 29| MIZ0| 7|2ALEX| gkot ® 0] M2 o= MEOIALE & &~ U0,

| 45 013 - 047 |

O novel AN O so far X|Z7X|

O exciting 4lLk=, S0|TIZISH

2 must gy 12| ¥ @
MR MEdH|2/HEE 2% 1% 2% 92% 1%

: Wake up, James! It’s eight o’clock. You’re going to be late for school.
: Don’t worry, Mom. It only takes ten minutes by bike.
: Did you forget? Your bike is in the repair shop.

EEEE

: Oh, no! Could you drive me to school, then?
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M: Hello, residents. I'm the manager of the apartment complex. As you can
see, we had a lot of snow last night. Since we don’t have enough staff
to clear the snow, we’d like to ask for your help. If you all come out
and help us, we can sweep up the snow in about half an hour. If we
leave the snow as it is, it’ll turn into ice and unwanted accidents might
happen. Snow shovels and sweepers are ready at the management
office. Thank you very much.
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M: Alice, is there something wrong? You look upset.

W: Dad, I'm really worried about tomorrow’s math test.

M: Don’t worry! You’ve studied a lot. You’ll do fine.

W: I hope so, but I feel too nervous to focus on anything.

M: Why don’t you take a deep breath or listen to some calming music?

W: I tried, but it didn’t work. Do you know any other ways to relax?

M: Umm... how about doing a little exercise such as taking a walk?

W: Will it help? I think it’ll just make me tired.

M: That’s not true. Exercising helps to release endorphins. Then, you’ll feel

better.
W: Really? Then, I'll take a walk in the park now. Thanks, Dad.
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[Telephone rings.]

M: Hello, is Ms. Brown there?

W: Speaking. Who’s calling, please?

M: This is Parcel2Go. Do you live in Green View Apartment?

W: Yes, that’s right.

M: 'm going to deliver your parcel this afternoon. It’s from Angel
Shopping Mall.

W: Okay. What time will you be here?

M: I think I’ll be there around 2 p.m. Would it be okay?

W: Oh, I'm afraid nobody will be home at that time.

M: Then, will anyone be there at four o’clock?

W: I don’t think so. Umm... can you just drop it off at the management
office?

M: No problem. Have a great day!
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: Good morning, Mr. Kim. How was your weekend?

: Great. My family enjoyed a picnic at Sunset Park. Do you want to see
a picture?

. Sure! [Pause] Your wife is wearing sunglasses.

: Right. She’s setting the picnic table for lunch.

=€ X=

: Oh, I like your picnic umbrella. It’s very pretty!

: Thanks. I bought it because my kids liked the stars on it.
: I see. It looks like your son is very happy on the swing.
Yes. He really likes riding a swing.

: He’s so cute! Umm... your daughter is drawing something.
Yes. She loves drawing pictures outside.

£X=€X=€24

: You have a lovely family.
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: Honey, do you remember that we ordered children’s books for Charlie?
Yes. Haven’t they arrived yet?

: Not yet. They’ll arrive tomorrow.

I see. Charlie will like them very much.

© Yes, but we have a problem. Our bookshelf is full now.

Why don’t we buy a new one?

: We have no space for another bookshelf. Can you throw away books
you don’t read anymore?

But those books are worth keeping.

: Please, Ted. To have new books, we have to get rid of the old ones.
o All right. I’ll do that right away.
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[Telephone rings.]

W: Starwoods Resort. May I help you?

M: Yes, I’d like to make a reservation for March 21st.

W: Okay, but we have only one room with two beds that day.

M: That’s okay. How much is it?

W: It’s $200 per night.

M: Good. Do you have barbecue grills?

W: Yes. You can use the ones in the backyard.

M: That’s great! You also have an indoor swimming pool, don’t you?

W: Yes, but the pool is closed for repairs until next month.

M: That’s unfortunate. My kids love to swim. I’'m afraid I can’t make the
reservation, then.

W: No problem. Thanks for calling.
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: Hi, I'm looking for toys for my sons. One is two, and the other is four.
. All right. How about these teddy bears and monkeys?

: How much are they?

The teddy bears are $30 each and the monkeys are $20 each.

: Okay. I'll buy one teddy bear and one monkey for my younger son.
And do you have remote control airplanes?

Of course. This one is very popular among kids.

My elder son would love it. How much is it?

It’s $50.

: $50? That’s too expensive.

You can get a 10% discount from the total if you spend more than $80.
: Great! I’ll take one airplane too.
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: Honey, we need to talk about Jenny.

Sure. What is it?

: She’s old enough to go to kindergarten. Why don’t we send her to
Dream Kindergarten?

€2 =

You mean the one on Main Street? How much is the tuition fee?

: It’s around $300 a month.

I see. Do they provide a school bus?

: Yes, they do.

What about the class size? 1 think the smaller, the better.

: There are around ten kids in each class.

: Great. I think Dream Kindergarten is the right place for Jenny.

&, $-2]= Jennyo] EHEHH oloj7]& dflof & A ZolR?

20|z 70| Folo|z

L T A1)
o Hu= Zlo] ojuja

: Main Streeto] Q= AL ou|shi}R? £AE7 dulx?

oi=F gk ol 3008 YUt

Aokl e 5L FAY WA

o, 1.

Do qfEE ojujR? Y 7o R AoH ASE o #

o Z¥2k9) shgol g 1099 ofol5o] §lojs.

3'?.53

%—g—@ Yo7} H3iolR. 1S Dream 79

2 Azshtar

ﬁﬁﬂﬁﬁﬁﬂ

|-‘?—I-|| SHA | O4XIQt HRH= JennyZ Dream SX|0| ELH7| Qsh SX|Rel 9IxI,
Az Ests HA ofx|atoz zizto| sHzof| 109 oIo| Qctn thelE st
°'°‘:'§ F AlZo] HAFSHR| &2 A2 @ ‘+Y tigolct

| =503 - o7 |

O kindergarten SX|& O tuition fee £YUZ

O provide HM|&3HCH O class size st& 2

O the smaller, the better 2t ™ ZSA2 o Z=C}

11 gsiel Mg e ojersp| Het @
MR MEiH|E/HEHE 9% 17% 3% 60% 8%

W: Good morning, students. I have an exciting announcement for you! Our
school library is going to hold the Poetry Out Loud Contest on Friday,
May 15th. Participants should memorize and recite one of the poems
posted on our school website. It’ll be a great opportunity for you to
enjoy poetry. Three winners will be chosen, and each of them will be
given a trophy. If you want to join this contest, please turn in your
application form to Ms. Baker at the library. The deadline is 4 p.m.,
May 11th. Good luck and have a great day!

LB olel ehgehAla. L ofeiRES 9o FuIRe ES shux
FhcH 7] skl AT 59 159 F8.Y9 Poetry Out Loud Contest

HM172| ofid] 221 (Zoi) Hefat st

ouL

99 201731d= nSstm AWt uiR(AL



Fol dYara)

£ st gyt eS¢
oM~ 1931 ggellopt Tk 7 ofiEEe] AE SV e
st 7137k gAYy 3359 2 XM 7R, 25 7 ER
g B Adurt gkeF GAEo] o] Contesto]] H71slaiAl i,
T Q= Baker Aof|A| AHAME AHEsf ok EME} upgt Ak s
4 1Y 25 4x70] AUtk o] 914 upehn] 2 5H757|E ut
ek

| 28| 3iA | =30 A Contestdl| &7ISIOAF SHCFH ARt Q= Baker M[of|A|
AHYME HiESHOF SHTHD OXh= Lotn A==z, B UX[eHK| = A2

‘st 2 AIES Sai 2t AlEg gect ot

| =5 0i%] - 017 |
O poetry A|, 22
O memorize 2|CH
O opportunity 7|3

ot YAl B AT Als F

O participant Zf7FX}
O recite S4&38iCt
O turn in ~2 HMIE3ICH

12 thstel Ligg SHOIM 215 O
HX|E MEiH|8/HEE 62% 2% 32% 1% 1%
W: David, look at this. The Golden Spa is having a sale on their spa

packages.

M: Really? Why don’t we buy a package for Mom for her birthday?

W: That’s a great idea!

M: Well, how about including a mud bath? It would be good for her skin.

W: Yes, but Mom hates dirt. She might not enjoy a mud bath.

M: Okay. No mud bath then.

W: Now we should decide on the length of the massage.

M: Well, 30 minutes won’t be long enough.

W: I agree. And $120 is too much for us.

M: You’re right. If each of us pays $40, we can give her a relaxing
experience.

W: Okay. Let’s do it.
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M: What are you doing here on the roof garden?
W: I'm just taking a break.

: Looks like you come up here pretty often.

: Yes. My office is too warm. It’s unpleasant.

Why don’t you open the windows, then?

: I wish I could.

What do you mean?

: You know Jessica?

Of course. She sits at the desk across from you, right?

: Yes. She is very sensitive to the cold and hates opening the windows.
So you came up here to get some fresh air.
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W: Honey, how was your meeting with Susan’s teacher?

M: It was good. Mr. Johnson said Susan is getting along well with her
friends at school.

W: That’s good news. We’ve been worried about her making friends.

M: Yeah. She’s also very active in class.

W: Really? That’s a surprise. She’s always quiet at home.

M: She even eats vegetables at school.

W: I can’t believe it. I’ve never seen her eat vegetables at home.

M: That’s not all. She keeps her desk clean all the time.

W: Oh, she is really different at school.
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M: Paul and Sarah are playing as partners in the final tennis match. During
the match, Paul makes a few mistakes. As a result, they lose the match
and get second place. After the match, Paul is sitting on the bench, and
looks depressed. It looks like he’s blaming himself. Sarah thinks that
they should feel proud of winning second place. She wants to tell Paul
that they were able to get to the final match thanks to him. In this
situation, what would Sarah most likely say to Paul?
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W: Hello, future movie directors. I'm Amy Anderson, and thank you for
coming here. As you know, movies should be fun and touching. But
that’s not all. To make a big hit movie, there are other things you
should consider. First of all, you have to know your target audience
well. Think of who is going to watch your movie. Next, when to
release your movie is very important. You might think holiday seasons
are the best, but they often are not. This is because many other movies
come out during these seasons too. Also, you should think about the
running time of your movie. It shouldn’t be much longer or shorter
than two hours. Finally, choose the title of the movie very carefully.
Good titles like Don’t Cross the River can make people more curious
about the movie. If you keep these things in mind, I'm sure you’ll
make your own big hit movie someday. Thank you.
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M: Jenny, what’s up? You look nervous.

W: I’'m going to an audition for a musical this afternoon.
M: An audition? What’s the title of the musical?

W: It’s West Side Story.

0: o5 % FAF 2“—]‘401 ‘0151.

H: o4? FAE] Aol w%?

0]: 1712 YAE AolE AEEo8.

| 28 14 | FXIZ HM=0| RAO|Lk=E HAtl 20| oXfe] SEZ O it's
West Side Story’ 7} 71& MESICY,
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MR MEiH|/YEE 4% 3% 0% 84% 7%

: Have you ever been to London?

: Yes, I have. I was there for the 2012 Olympics.
: Wow! You must have had a great time there.

. I did. I enjoyed watching the games.
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O Have you ever been to—? ~0f 7H2 & QIL|?

O have a great time 2 A|ZIS ELHCH

O must have p.p ~3S0| E2I8iCt
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W: Hello, students! This is your principal, Ms. Baker. As you know, a
typhoon is coming this weekend. There will be strong winds and heavy
rain. So, let me tell you what to do to protect your classroom. First,
close all the windows before you go home. It’ll protect your computers
and TVs from the rain. Second, don’t forget to close the curtains. If the
window breaks, the curtain will prevent the glass pieces from scattering
all over your chairs and desks. Now you see what to do. Have a nice
weekend!
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O typhoon EHE O protect 2S5iCH

O prevent A from B A7} BGIX| Z$=2 giCt
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: Look at that house! It’s built of wood.

: 1 love wooden houses. They’re good for our health.

: You’re right. They’re eco-friendly, too.

I’d like to live in a wooden house someday.

: But there are a few things you should consider. My uncle lives in a
wooden house and he’s always complaining about it.

Really? What troubles him?

: He says small insects keep making holes into the wood.

That’d be a problem.

: And the roof! It sometimes lets water in when it rains a lot.

S€EX€X =€xX€XE

: Oh, it seems there are bad things as well as good things about wooden
houses.
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O eco-friendly ZlgtA=0l

O complain 2%3}Ct

O keep —ing AI&8HA ~5iCt

O someday AAZI7} ZEof
O trouble Z|Z3|CH
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Honey, I need to fix my cellphone. The screen is broken.

Really? 1 guess it’s time to change your phone.

: 1 don’t think so. It’s only two years old.

Well, people change their phones every two or three years.

I know, but it’s cheaper to replace the screen than buying a new phone.
But new cellphones have a lot of good functions.

That’s true, but I’'m happy with my phone. If I fix it, I can use it for
another couple of years.

I see.
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: We should try to repair things before we throw them away.
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O screen (LN X3to|) o™ 3H O replace CHAISICH HERCH

O function 7|5, &S O repair £=2[5ICH

O throw away HZ|Ct, S{H|SICt
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W: Hi, Mike. Come on in.

M: Hi, Emma. Oh, this cat house is very cute.

W: Thank you. I used special wood to make it.

M: I didn’t know you make cat houses.

W: I do, and actually cats love them.

M: Great. By the way, I’ve seen the desk designs that you sent to me and
I like Number Five most.

=

: Let me see. This cherry wood desk with two drawers. All right. When
do you need it?

M: I'll move into my new apartment next Friday, so if possible, I'd like
you to make it by next Wednesday.

W: Okay. Wednesday is fine.
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M: Do you want to try this steak?

W: Okay. Mmm... This steak tastes so good.

M: I'm glad you like it.

W: I love the sauce especially. How did you make it?

M: Actually, it’s my mom’s secret steak sauce.

W: Wow, you’re very lucky. She’s a great cook.

M: She’d be happy to hear that. If you want, I'd love to give you some to

take home.
W: Thank you. It’s very kind of you.
M: Just wait a minute. Let me find a bottle to pour the sauce into.
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[Cellphone rings.]

: Hi, Katie. What’s up?

: Hi, Ben. I'm sorry, but I can’t go to your party.

Why not? Is it because of David? I heard you two had an argument.
: Well, David called me this morning and apologized to me. We’re okay.
Then why can’t you come? My mom is going to make delicious food.
: I'd love to, but I really can’t.

Come on! Just come and have fun.

: 1 got an eye infection. The doctor said I should stay at home.

Oh, I’'m sorry to hear that. I hope you’ll get well soon.

. Thanks. See you later.
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: Honey, I’ve finished the sketch for Timmy’s new playroom.

Let me see... This picture of mountains is great.

It’s the picture Timmy drew last year.

That’s nice. Is this a play tent?

Yes. Timmy will love it. What do you think of this basketball net?
Timmy will be happy that he can play basketball in the room.

I think so, too.

Oh, this looks cute. Is it a rocking horse?

: Yes. It’ll go well with this mat.

SEXEKEK=ERE

Now, I see. The mat looks like a cowboy hat. That’s perfect.
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M: Good morning, everyone. Today, we’re going to have an “Apple Day”
event during lunch time. It’ll take place in the school library. When you
come, you can see a special desk with apple-shaped cards, coloring
pencils, and a book list. There, you can write a sorry card to a friend.
Then, choose a book from the book list that you want to share with
your friend. We’ll deliver the book with the card to your friend
tomorrow. Don’t miss this great chance to build your friendship.
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W: Hello. May I help you? M: Can I help you?

M: Hi. I’d like to get today’s game ticket. W: I'd like to buy a tablet computer.

W: Sure. But we only have tickets for Stand C and Stand D right now. M: Here’s a catalog. Do you have any model in mind?

M: How much are they? W: Yes. I’d like to buy one of the TC models.

W: Stand C is $50, and Stand D is $30. M: We have three types. Which do you like most?

M: Why is Stand C more expensive? W: 1 want one with a bigger screen.

W: It has a better view. M: What about the memory space?

M: Then, I'll take two tickets for Stand C. Can I get any discount? W: The bigger, the better.

W: If you have a membership card, you can get a 10 percent discount. M: Then, I think this is the one you’re looking for. Do you like this color?

M: Good. Here are my credit card and my membership card. W: Yes. White is my favorite color.

W: Here are your tickets. Your entrance is Gate 4. Enjoy the game. M: You made an excellent choice.

M: Thank you. T S

1ol ol =79
. U= tablet HAEEE 2Qlstda gk
 of7] BEo] gtk UshAlE mo] gluhar

o2 0f

182 o] 11 (Zof) metmt s ] ()9 20178iis DSstm MW BF HiR[TA}



o] FHuss)

TC =¥ ol shbg Ak Aiych

Al 714 Fel7h igsuick ol o] 71

£330 & ¢ 2 AL gk

He] §RRe ojudrla?

a¥ 255 A48

:LE—]U# o]Zlo] wAlo] zk= Ao]glil
FHU BN A1 Folela.
ZHF AES s

tablet ZHE TC 2 =0l A3J2I0| & ¢ 31, H=2E=E 2

=
MeigS o 4 it met FEe Golct,

Z0 X717

AR o] Hlo] ot

'?F:?'?F?'?F?'?F?

Ho
o =
=Olg

1=
mo mx
m e
=
Ir

> =
olr
2
jo_n

catalog A& B2 JIEZ21
have ~ in m|nd NC”"ZON =Lt
look for ~& AT} 7|Ct2|ct
memory space K& 27t
choice MEH ZX

Oo0Oo0oaog

13 Azl mxist 2€ 127

2% 1% 85% 1% 9%

0
iy
®

mx
pa)
%
rx
i
o
1o
S~
ox
i)
Tl

: What are you doing, Scott?

Well, I'm playing a game, Mom.

And you’re eating chips at the same time.

Yeah, I’'m a little hungry.

: Then, why don’t you eat them at the table?

But I’d like to finish this round. It’s very exciting.
. Scott, you shouldn’t eat while you’re on the computer.
Why not, Mom? Is it bad?

: Yes. It’ll make the keyboard dirty, and it’s really hard to clean it.
. Okay. I'll stop eating right now.
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. Excuse me, what’s this line for?

: What’s so special about it?
: It’s for the 20th anniversary of the museum. You can see great works
of famous artists.

M
W: It’s the line for a special exhibition.
M
N4

: There are so many people waiting in line.

: Of course! It’s free, but only for today!

Great. How long do you have to wait to get in?
: More than 30 minutes, [ guess.

: Oh, it’s quite a long time.

: But I think it’s worth the wait.
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M: Kevin’s mother has always wanted to study Spanish, so she starts
taking a lesson. Kevin is happy that his mother is trying to learn
something new. One day, Kevin asks her if she’s doing well with her
studying. She says that she’s trying hard but she has a problem. She
can’t find enough time to study because of housework. Kevin wants to
support his mother, so he decides to do some housework for her. In this
situation, what would Kevin most likely say to his mother?

Kevin: Don’t worry. I’ll help you with the dishes.
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W: There are many cases where you can use knowledge of music. Here’s

a good example. Let’s say you’re a member of the school musical club.
Your club is going to participate in a contest and perform the
“Do-Re-Mi” song. It seems like a simple song, but actually it’s not that
simple to perform. Seven students will sing. One student will play the
piano, and another student will play the drum. Two other students will
play the xylophone, and you’re going to play the guitar. The sounds of
instruments and students’ voices must work together in harmony. To
make it happen, you have to understand how each different instrument
sounds. Also, you need to understand how your guitar will go with the
other instruments and voices. All of these tasks require basic knowledge

of music.
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